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1. TOgT UR™T 1 & U o9, 37T 3H U0 Yieeht it Ugdriel 31ava oY o e gad s famm
BUT, Tel AT TeT E3TM TS ST U9 3NE 7 &Nl Afd TET & ar 3H WEr Uieion giaent § a&at
it

2. I-UASE B WET T U GHETUT GRaeht 3TsRA A, B, C 31 D Ieiierfa we ®9 | feeg S|

3. 79 Ufd % 1 ¥ &3 T RIS § YR SO SHAI foae €1 wiern g W 3R % 7 fod

4. 3@ wer gfcsht ® 100 g9 (e) f&F T ) g weAre et ofit ot ¥ sW B yed geAw
H 9N g (IW) @ M R T W T T
F A o, S A9 IW-=F W AfeRa wE =med
F1 9 aueR! TE o foF U 9 stfue g wE
g @ 3H IR HI Afhd HX S AR FAE T TAF WA % e had Tk & IR T E

5. SMUh! IO W YRR oten ¥ R U Sw-we W OE sifhd & € Sw-w § Rk fadw
3@ ol

6. |f yeAl % 3w wEH B

7. 399 Ted foh o9 we gieer & fafa= gl & T SW-TFe W SAfhd R YR Y, e
WAl THO-TS % WY U SRSl % SUR h® faeRer Sw-we | < 2

8. 39 3T il YU &l ST-TAH § WA & dK 91 T & FHOH W Had Sa-TA TEEh hl
i | STkl SO W1 THe0 YRRl of STH T AR 2

9. = ®M & ¥ & TF e YRewt & Fd § o

10. T ST & @ €%

TS Yy W SEiEaR g fed U ew s & fo g3 famr wmom

(i) 9% Yo & ford wR Sfersd SW 21 SHASAR g yE WA & fod i@ T U e S % fod
i 7q fod fo6a U siet o1 ueh-Taets < & &9 H wrer smom

(i) % *iE IH<aR T @ sifeeh I @l €, @ W Terd IO 9 S, = 5 T sw 9@ uh S
e 7, 39 Y9 & o SwdFaERr & < fear s

(iii) % SR g *IE Y 8 &l foman Sar € ereifq SEitar g SwR e o < €, A S| ue &
o g g =t fean smom

T Tk T TE UIILUT YRAHT T il T gl ST ad a7 @it




1. SR E 1 Sfspan T & duren & T 9

Fefad frefafaa weml ® fa=r wifsa:
1. oieh@s 31egy 99 373 & d8d 9sd |
EE TN W@ B o frER @ oI faeeh

ff T & 39 HIER & ford gfeqd =
Gl B

2. fom 374A & d&d TR Ieard A AR
SR & A | 31eAe gRI AMHG ST i
TR e YS! A G @ 99 A, S ooff
w9 B, & a3 ¥ed & 91 9 fetfaq &
fean s 2

ST He H W HHA-GA TE R/R?
(a) HaA 1 (b) HaA 2
(¢) 1 22 =F (d) Fd 1 SRAE 2

. AR = e (fgd=), 2023 & fafatea

Iusel W fomm wifed:

1. I% HfSd 90, Sdehars a1 ifesh THR
ST AU B 9 AU SAqUE Wl wnfhie
F U T, THA A1 = TEAH W e
IPC ool ! ST e 2

2. 3EH el 4 Hid % fod 5 oY % srEw
1 g TR T R

3. THH SARTER 1 90 % AR W It TR
T Rl

St A 9 R wmer wet #2
(a) HaA TH (b) HaA A
(c) et (d) ®FE «ft T

. URER & Garrfies greaeEl & Hed § frefafaa

ol W fo=m #ifsa:

1. Tezufd 3R TsAde, ST i HiTHE g &
FH B WYY VR TS R TE B

2. Ul i &R Wfek h1 IR TsA9e i
A SR @ %A 2

SUge el § W wA-G/H T 2/R?
(a) Had 1 (b) HaA 2
(¢) 1 32 =H (d Fa 1 RTE2

. IfErR =1 gifafus wifed = wsd o f=fafea
ol W foeR #ifSa:
1. <e ufwan dfear St 1 90 § 38 9RER &1
e il 2
2. YR 432 % q8d U9 TR ! I If e
2 for o fodh =afe 1 St & srafa o

1. Consider the following statements related to the

rules of procedure and conduct of business of the
Lok Sabha:

1. The Speaker of the Lok Sabha is responsible
for maintaining order in the House under Rule
373 and can punish any member for his
misconduct.

2. In case of serious violation or serious
allegations under Rule 374A, a member
nominated by the Speaker is suspended from
the service of the House for five consecutive
sittings or the remaining part of the session,
whichever is less.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only
(c) Both 1and?2

. Consider the following provisions of the Indian

Judicial Code (Second), 2023:

1. Tt retains the existing IPC provisions on
murder, assault and grievous hurt while adding
new crimes such as organized crime, terrorism
and grievous hurt or murder.

2. There is a provision of 5 years imprisonment
for causing death by negligence.

3. Adultery is included as a crime in it.

How many of the above statements are correct?
(b) Only two
(d) None

(a) Only one
(c) All three

. Consider the following statements with reference

to the constitutional provisions of Remission:

1. Both the President and the Governor have been
given the sovereign power to pardon by the
Constitution.

2. The scope of pardon power of the President
is less than the pardon power of the Governor.

Which of the above statement(s) is/are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1only
(c) Both 1 and?2

. Consider the following statements with reference

to the statutory power of Remission:
1. The Code of Criminal Procedure provides for
remission of punishment in jail sentence.
2. Under Section 432, the state government has
the power to release a person before completing

FH U Tedt Rel R gkt 2l his jail term.
ST weAl H W HH-T/A TE B/2? Which of the above statement(s) is/are correct?
(a) Fad 1 (b) waA 2 (a) 1only (b) 2 only
(c) 1 3R 2 < (d) T 1RAH2 (¢) Both1and?2 (d) Neither 1 nor 2
e 641, WO T, | 21, GET S, | 13/15, A9Ra AT, ke | wite FoR-45 9 45-A 76 | 47/CC, afefres
AT aast TR, A TR, ufsreRt <inmer, fafae TER-2, W9 2 AT, | I AtA, faarasn
(Magazine Test) RS UL % faeett TG, FARRTS THET A, TR i, AETS
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5. U BfRa = & ged # fefafed

oAl W fo=R Fifsa:

1. 39 vAfeRer W& Sfufm, 1986 & §W
qfeRvi foamsl i g w & fod wenfya
fran T 2

2. W =AY & w9 H dhaet gater fawet
=1 Frger femean T 21

ST He H W HHA-GA TE B2
(a) e 1 (b) e 2
(c) 1 3 2 g (d) Td 1 T2

2023 ¥ Hafyd frAfarad gee W four sifs:

1. =9 sifufe & g sTdehars o1 U9 el
% foam it =afw fedt off a1
hTeH T&I HT Hehdll

2. 9 & iR foref afemst & q5u1 & fo
%% WHR | qd STIHRA i Ta Sawaehdl
T B

3. Jg ofufrm fefgae nfeee =t stusiea
TA-UCFRIST & YhH W ST A H
AfFR 2l B

Srde H 9 fohad we wet &7

(a) HId TH (b) ®aa &

(c) Tt = (d) w1 o 7

. 1878 & ofieRIer U stfufem & wed |, -

T HoA T B/R?

1. 1878 & THMRIER U9 Afuf=m & STER
nfsre g famn wen fofa stfaw giar em

2. 1878 & TR Y9 Sifufad @1 3T
Hidee 3R g8 TR ARATE W61 & TR
S § weRTrTe wrel <l fafafig ik frefa
FHET el

e & T e T TR § T ST R =TI Hifor:

(a) Had 1 (b) HaA 2

(c) 1 &R 2 g (d Fd 1 SARAE2

. fee e W@ & & §3 ¥ fAfafad wu |

foar =wifs:

1. @€ YS9 =E Gied s few

2. T& HFA el W odfed % wl Afaw
TR o e w1 faemh e =61 gt 2

3. T HMT & STIER gHeAl ¥a ¥ 9FH a1
qferd &1 I T = W 10 T FH HAE
AN SAM HT WA B

5. Consider the following statements with reference

to National Green Tribunal:

1. It has been established by the Environment
Protection Act, 1986 to resolve environmental
disputes.

2. Only environmental experts are appointed as
judges.

Which of the above statements is/are correct?
(a) 1 only (b) 2 only
(c) Both 1and2 (d) Neither 1 nor 2

. Consider the following provisions related to the

Press and Registration of Periodicals Act, 2023:

1. According to this Act, a person convicted of
terrorism or against state security cannot
publish any magazine.

2. There will no longer be any need for prior
approval from the Central Government for
printing foreign magazines within India.

3. This Act empowers the District Magistrate to
impose fine on publication of unregistered
newspapers and magazines.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

. With reference to the Vernacular Press Act of 1878,

which statement(s) is/are correct?

1. According to The Vernacular Press Act of
1878, the decision taken by the magistrate was
final.

2. The objective of the Vernacular Press Act of
1878 was to regulate and control the content
published in Indian language newspapers by
imposing restrictions and penalties.

Select the correct answer with the help of the code
given below:

(a) 1 only

(c) Both1and2

(b) 2 only
(d) Neither 1 nor 2

. Consider the following statements with reference

to Hit and Run Law:

1. This provision is part of the Indian Judicial
Code.

2. This law reflects the legislative intention to
impose moral responsibility towards the
victim on the offender.

3. According to this law, there is a provision of
10 years imprisonment and fine for running
away from the accident site and not informing

the police.
SR H ¥ fR Fud w22 How many of the above statements are correct?
(a) HIA TH (b) waA ] (a) Only one (b) Only two
(c) |t = (d) = o T (c) All three (d) None
e 641, UUH T, | 21, GET US, | 13/15, AR uH, ke | wite FoR-45 9 45-A4 T 47/CC, afetmeT
T s TR, et °, ufsrerr <inrer, fafaet TaR-2, 7 2k U, | 3Mehs Wi, faamrasw
(Magazine Test) IRESUREUIE = frecht TAEH, TR T HIA, T e, T
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9. AR Wiawadt A (W) & Haw H
frfafea wol ® faar wifa:

1. 9Rd giaeagt smEn (Hidters) Tk Surtes
e 7, <t wfaeagt sifufem, 2009 1w
FH % ford TR 2

2. HHteTE w1 ded SR B HiaeTst i Feren
T SR GAC WA qu SuERet & fedl
FI & HET B

3. HiEfend & U wed iR yqw ferfd @
TEUA Gfed ufaeagl-fateh gensti # Wer
Y ST et SEeE O S S vl 2

ITE § @ fohae wer wEl ©2

(a) oA Th (b) e

(c) |l I (d) = o T

10. fr=fafad § @ ®FE-G/8 390 & A

1/ TR T 28?2

(a) faftas @mma &9 g

(b) Torelt q51 & 9@ & favg ri=maen &
T feRaT W Wewdl 2

(c) g-TsHifass gard ¥ gfg & Tkl 2

(d) Sugw |l

11. 54 39 & ded ¥ fAfafed wol | fo=r

HIfS:

1. Waq ®fu ugfaal &1 ded S|ed Sioery
Rt & orfRe gor, MR T4
IS I HH HE A B

2. 7€ wHel AR uyEd o fafay wifefas @
qen STEfer fafaerar o1 gmefH e 2

= fed T H2 FT TeEd ¥ L IW HT T

EAIERE

(a) ®aa 1

(b) Had 2

(¢) 1 22 =F

(d) Td 1 RTE 2

12. Frefafan @ fomm #1@:

1. 3= 49 |1

2. Hifhd 3care &war

3. 3=d Sl AN

SYF ¥ 9§ fhadl 9Ra ¥ 9aq $fv & wmE

e €2

9. Consider the following statements regarding
Competition Commission of India (CCI):

1. Competition Commission of India (CCI) is a
statutory body responsible for enforcing the
Competition Act, 2009.

2. CCI aims to promote and maintain competition
in the markets and protect the interests of
consumers.

3. CCI has the power to impose penalties on
entities found engaged in anti-competitive
practices, including cartels and abuse of
dominant position.

How many of the above statements are correct?
(b) Only two
(d) None

(a) Only one
(c) All three

10. Which of the following is/are not a result of

internationalization of the rupee?

(a) Regulation costs will be less.

(b) The economy can be strengthened against
foreign exchange pressure.

(c) Geopolitical influence may increase.

(d) All of the above.

11. Consider the following statements in the context

of sustainable agriculture:

1. Sustainable agricultural practices aim to adapt
to changing climate conditions, reduce
greenhouse gas emissions, etc.

2. It supports diverse ecosystems and genetic
diversity in crops and animals.

Select the correct answer with the help of the code
given below:

(a) 1only

(b) 2only

(c) Both1and2

(d) Neither 1 nor 2

12. Consider the following:

1. High labor demand
2. Limited production capacity
3. High capital cost
How many of the above are challenges facing

sustainable agriculture in India?

(a) HaA TH (a) Only one
(b) oA (b) Only two
(c) It = (c) All three
(d) =g o & (d) None
e 641, UUH T, | 21, GET US, | 13/15, AR uH, ke | wite FoR-45 9 45-A4 T 47/CC, afetmeT
T s TR, et °, ufsrerr <inrer, fafaet TaR-2, 7 2k U, | 3Mehs Wi, faamrasw
(Magazine Test) IRESUREUIE = frecht TAEH, TR T HIA, T e, T
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13.

14.

15.

16.

ORd % T 3UN § Hafvd ffafed s

R fa=r wifsa:

1. a9 2021-22 & S9&1 9Rd & St 7 1%
RIUCEIE

2. 9Rd fava o TEUT ol el 991 Sces 39 B

3. % SEN o IcqEeh S i SER 2

St H 9 o we wet #72

(a) Had TH (b) HaA T

(c) |t o= (d) =g ot T

el U R0 Aifd ® el § frefate

oAl W fo=m Fifsa:

1. =g <ifd SR & g% Fae SHR arel |fed
fafer= @resiter didl 9 oI olie &Y %
SRR TEERTT SR fremsfatt @ Hefud 2

2. 3@ Hifd & ded S WA & gN ERa
BEgieM I & fod zEua & &l of
fequmes smn T

SwE weAl W 9 SE-FUA w1 22

(a) Fad 1

(b) HadA 2

(c) 1 3R 2 <

(d T 1 AT 2

HA & Hifed | BT & H g ATHE faw

% g o fmfafes wel W foer w3

1. 310 HieX &a = g8 STk o1 F1H07 foham )

2. JaUsg We FOWd gfawn w1 fowmm
feran =

3. gfeaq effae swraieH fafiee & <fiqa =
frgor e =

STE FoAl § 9 ®A-9 T 22

(a) eel 1 3R 2

(b) a2 3R 3

(c) wad 1 3R 3

(d 1,2 33

IR H S Seumel § Hefya frAfatad et

T fa=m wifsa:

1. 9ft BR ¥:TTE, ARdE dqume sifuftam,
1908 & ded Smted fordl Sid €l

2. 39 9SUMEl 1 T qen FeleH T3 TR
% Sdqifd a2

ST el § W BA-A/E T 22

(a) ®aa 1

(b) o 2

(c) 1 &R 2 i

(d) T 1 RTE 2

13.

14.

15.

16.

Consider the following statements regarding the
steel industry of India:

1. It had 1% contribution in India's GDP in the
year 2021-22.

2. India is the largest producer of steel in the
world.

3. This industry is the basis of other productive
industries.

How many of the above statements are correct?
(a) Only one (b) Only two

(c) All three (d) None

Consider the following statements with reference
to steel scrap recycling policy:

1. This policy deals with scientific processing
and recycling of ferrous scrap generated from
various public sources including old
Government vehicles only.

2. Under this mission, the steel sector was also
made a stakeholder for green hydrogen
production by the Energy Ministry.

Which of the above statement(s) is/are correct?
(a) 1only

(b) 2only

(c) Both1and2

(d) Neither 1 nor 2

Consider the following statements with reference
to the recent infrastructure development in Kochi,
Kerala:

1. 310 meter long new dry dock constructed.

2. International ship repair facility developed.

3. Terminal of Indian Oil Corporation Limited
was constructed.

Which of the above statements are correct?

(a) 1and?2 only

(b) 2 and 3 only

(c) 1and3 only

(d) 1,2and3

Consider the following statements regarding minor
ports in India:

1. All minor ports are governed under the Indian
Ports Act, 1908.

2. The ownership and management of these ports
comes under the state governments.

Which of the above statement(s) is/are correct?
(a) 1 only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

641, WO T, | 21, GET S, | 13/15, A9Ra AT, ke | wite FoR-45 9 45-A 76 | 47/CC, afefres
e 23 s TR, et °, ufsrerr <inrer, fafaet T@EN-2, B die U, | oMehe wid, faarmsm
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17.

18.

19.

20.

21.

Ay =R W Gt uResd & AneE & wed

¥ frfafed swerl | fo=m wifsa:

1. 99 oRees o | dfvasw SR #5 80%
T T & feda 9 70% ¥ 3Tfueh 1 ARE
2

2. € STUENHA A THA-HIE ¢ N g
T GAlE i ol § Uid 27 ST 1 Ik
IS Hl B

ITE wedl § 9 HA-T/E T 2R

(a) ®ad 1 (b) HaA 2

(c) 1 3 2 g (d) Td 1 A2

fova & faf= 29 +1 Sl § g AR ®

feafa & =4 # Frafafed oMl W fo=r it

1. 999 Ifys e | YR U & Sel
¥ &3 T

2. wferen ¥ wew Afue ARdE <9 1 S |
3 &

3. U0 ¥ Heg aAferk WRdTA el TH T S
¥ &g T

STde § @ fohae wer wEl ©2

(a) Had TH (b) ®aa &

(c) |t = (d) =g o T

frefafaa 3o | faar sifs@:

1. S 2. e

3. gAEde femen 4. ST

ST H ¥ fohad 3 & WY 9IRA 7 G

R & T T GEEiar e 272
(a) HIA TH (b) FaaA I
(c) Had = (d) |+t =R

WihE 3R WA % dre feer we Y@ Wi
frefefea & o frm ™ @ ST S @2

(a) 34 feilt g T

(b) HITHIE @

(c) WS/ @

(d) e @

S oTe-3Ee & SR ¥ fefafed § 9 sE-w
FHUT TA 22

(a) 99 TA-IEA SHTEE W frem ww
SqHaTE TE

YT -3 gEged § giifeE | ST
e & ferd S S )

YT -3 Teh Gl SAARaTEl TS 2,
St wiferea 3R SE A @l R

e ST-o1sed HeA qd H wifd #iR Heifa
%1 FRTeld A el Teh TSI <l 2l

(b)

(c)

(d)

17.

18.

19

20.

21.

Consider the following statements with reference
to the contributions of maritime transport to global
trade:

1. Maritime transport contributes 80% to global
trade in terms of volume and more than 70%
in terms of value.

2. Ttisrelatively more fuel-efficient and produces
more emissions per tonne of cargo than air
freight.

Which of the above statement(s) is/are correct?
(a) 1 only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
Consider the following statements with reference
to the situation of Indians imprisoned in jails in
different countries of the world:

1. The largest number of Indians are imprisoned
in USA jails.

2. In Asia, the largest number of Indians are
imprisoned in Chinese jails.

3. The highest number of Indian prisoners in
Europe are imprisoned in Spanish jails.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None

Consider the following countries:
1. Kazakhstan 2. Somalia
3. United Kingdom 4. Germany

With how many of the above mentioned countries
has India signed an agreement on transfer of
convicted persons?

(a) Only one (b) Only two

(c) Only three (d) All four

By which of the following names is the border line
situated between Pakistan and Iran known?

(a) 34 degree parallel line

(b) Siegfried line

(c) Marginal/ Mannerheim line

(d) Goldsmith line

Which of the following statements is true about
Jaish al-Adl?

(a) Jaish al-Adl is a terrorist group based in
Afghanistan.

(b) Jaish al-Adl is mainly known for its operations
in Somalia.

(c) Jaish al-Adl is a Sunni terrorist organization,
which is active in Pakistan and Iran.

(d) Jaish al-Adl is a political party advocating
peace and diplomacy in the Middle East.

641, WO T, | 21, GET S, | 13/15, A9Ra AT, ke | wite FoR-45 9 45-A 76 | 47/CC, afefres
e 23 s TR, et °, ufsrerr <inrer, fafaet T@EN-2, B die U, | oMehe wid, faarmsm
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22.

23.

24.

25.

IRE SIR WA & s Hed o Frefeaa |

HA-H Teh HoF Fleh aui hidl 82

(a) Hod qered ¥ " faarl @R d@im ur

HAIRETE & ARG & UG I F

oifHer wavsl, favioeRy G- @@ =

god i e & 2

(c) afieh wiaeasf, fagioed & =R A0 @i

TSl HEEA 1 e GO F e w1 A 2

g gy fafesr ara & foarem & w53 &

Uferfaes a1 @ S g3 R

B & | etafe fRd o efRier eree &

e # freAfafed woml | foem Fifsa:

1. SUH AN SSHASH 1 T o o
o= T

2. ISESH A 2027 @ & T SHen! Sremerd
el i W9 & 2

(b)

(d)

SUge el § W wA-G/H T 2/R?
(a) *ad 1 (b) e 2
(¢) 1 3 2 =F (d Fa 1 RTE2

T TR & UEEe W ogmel d ARdE i

feerfq & weed o frfafed § @ wH-91 T weH

T 27

(a) o T Al 9 FTHT 8 qH A9 &

(b) SR T fwRE T SR el wE o
Tahighd fomam T=m

(c) S® 9ewE 3R FTeh1em o1 W1 ST US|

(d) S Fmier W qeifaes v 3R gore gre
e

IR 3R AR & de Gaul i adae et

9 Hefya fefafed sl w foem Fifse

]. WRA 3R ARy & die Ao Sfish ere
g, < 29 & o Hewyel emR ek
e 2

2. AR J YR Hl HH % WY hed ¥ S
o €, foo8 9Ra & Tme SHwt 39 AAifd
g foad Seo= et 2

3. 9RA AR AR A AKHaR folid, Sty
e iR &g feear S@ wE W Freke
wEam T B

ST A ¥ o wer wet #2

22.

23.

24,

25.

Which one of the following statements accurately

describes the conflict between Pakistan and Iran?

(a) The conflict mainly revolves around border
disputes and allegations of cross-border
terrorism.

(b) Religious differences, especially Sunni-Shia

tensions, have increased the conflict.

(¢) Economic competition, especially conflict
over trade routes and energy resources, has
increased tensions.

(d) This conflict has arisen from the historical

enmity at the time of partition of British India.

Consider the following statements with reference

to the recently organized Non-Aligned Movement:

1. It was organized in Baku, the capital of
Azerbaijan.

2. Azerbaijan has handed over its chairmanship
to Uganda till 2027.

Which of the above statement(s) is/are correct?

(a) 1only (b) 2 only

(c) Both 1and2 (d) Neither 1 nor 2

Which one of the following statements is correct

regarding the situation of Indians in Uganda during

the reign of Idi Amin?

(a) They were largely unaffected by Amin's
policies.

(b) They were welcomed and integrated into

Ugandan society.

(c) They faced discrimination and expulsion.

(d) They gained political power and influence in

Uganda.

What is the current status of relations between

India and Bangladesh?

1. India and Bangladesh have strong economic
relations, with significant trade and investment
between the two countries.

2. Bangladesh has closely aligned itself with
China, due to which this policy raises
concerns for India.

3. Indiaand Bangladesh have cooperated closely
on issues such as counter-terrorism, climate
change and regional stability.

How many of the above statements are correct?

(a) HId TH (a) Only one
(b) waA I (b) Only two
(c) &t = (c) All three
(d) =i o 7 (d) None
e 641, UUH T, | 21, GET US, | 13/15, AR uH, ke | wite FoR-45 9 45-A4 T 47/CC, afetmeT
TS @St TR, S AT, ufyrent =T, fafae TaR-2, 7 2k U, | 3Mehs Wi, faamrasw
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freafafed YrdE = ) faar sifsd:
(1) H=e™ (2) AT
(3) faary 4) fqu

SWEE ¥ ¥ frdd WRAE TF 9r@Ry & @Y

o g & w @ &2

(a) o TH (b) o

(c) Had o= (d) 9t =R

TSR UEifeh! & e ¥ HE-| HeH

TE 72

(a) BIEEMIfTe onferal werfies fashme qeam &
w9 H gt W felR et €

(b) TR Ty didl %1 STH & fod 9w
¥ Wgg U S SEE S B

(c) =EgM® faeq woaa ard Td & fad
ST 2

(d) e qwEl I HH ®H HRO BLMEIH
ol sl IR-9R @R TR S STEvIhal
Bl 21

NASA-ISRO fddfes TI=R W©R (NISAR) &

e # frefafad womi w® faar wifsa:

1. =9 foe dfgn & o fesea foean w2

2. g8 uifeerfae o, feu sogwm, a9eafa
TR qo Whfas @l afed fafy= gesft
yonferdl & Gee W Aqgfe yeH i B

SwfE wAl W 9 wE-"UA T 22

(a) Had 1 (b) HaA 2
(c) 1 &R 2 i (d) Td 1 A2
frefafes gl w faem wifs@:
( fafter faerT) ( afafter waidt)
(1) 0 forrm L
(2) SmfEa-11 - gwTEgrE
(3) T fiem - S
Swdm # © fohad g el Ao €2
(a) HIA TH (b) FaaA I
(c) |t = (d) i ot T

FaleH WEfieht & aR o fefefea § 9 siA-a
HeA TE 22

(a) FeH THAIH AU HAEH & fad WRATT
Fegfen fagral W fR w2

FelleH H L YA FER ST ST T T8
% &9 H WHrd faeg 1 ST #7d 7

(c) & TR AR SU-WHIUeeh T W vEred e

(b)
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Consider the following Indian states:

(1) Meghalaya (2) Manipur

(3) Mizoram (4) Tripura

How many Indian states do not share border with

Bangladesh?

(a) Only one (b) Only two

(c) Only three (d) All four

Which statement is correct with respect to

hydroponic technology?

(a) Hydroponic systems depend on soil as the
primary growth medium.

(b) Hydroponic systems use nutrient-rich water

to grow plants.

(¢) Hydroponic systems are suitable only for

outdoor use.

(d) Hydroponic systems require frequent

replanting due to nutrient depletion.

Consider the following statements with reference

to NASA-ISRO Synthetic Aperture Radar (NISAR):

1. Tt has been designed for remote sensing.

2. Itprovides insight into various Earth systems
including ecosystems, ice mass, vegetation
biomass and natural layers.

Which of the above statement(s) is/are correct?
(a) 1only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2

Consider the following pairs:

(Space Mission) (Space Agency)
(1) Europa Clipper — NASA
(2) Artemis-II — Roscosmos
(3) HERA Mission - JAXA

How many of the above pairs are correctly
matched?

(a) Only one (b) Only two

(c) All three (d) None

Which of the following statements is correct about
quantum technology?

(a) Quantum technology depends on classical
computing principles for its operation.

(b) Quantum computers use conventional bits as
their basic unit of information storage.

(c) Itdescribes the behavior of matter and energy

S & SHIER T IUH HT B at the atomic and sub-atomic level.
(d) ST |t (d) All of the above
e 641, UUH T, | 21, GET US, | 13/15, AR uH, ke | wite FoR-45 9 45-A4 T 47/CC, afetmeT
T s TR, et °, ufsrerr <inrer, fafaet TaR-2, 7 2k U, | 3Mehs Wi, faamrasw
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T TAs & ged o frefafea womi w faer

EAISPE

1. o€ Sl 1 Th WEHd €9 €, S s w
T Foll Tl 1 U el fed S /1

2. T SRS & aad R MU @ia famr
% ford feieR oM S 2l

3. SRS 1 TN 98% WNT 1% TAsH Bl

Stde H § o e wet #72

(a) A Th (b) et

(c) |t = (d) =1E off 7

TR IASie SIS (TaESl) & oy #

frafafad § § FF-9/4 ®oF w8 /87

1. ToREl ergemer & = fagd yee § e
TGRS HLl B

2. URURS dqUET dodl i gordl H TeTsel
Ao T H @9d @ B

3. TOEEl AR W faferen o st S
o | o g 2

Tt 331 T 2 T TR | TE S| 1 A it

(a) waa 1 (b) shee 2 3R 3

(c) Wee 1 3R 3 (d 1,2 33

TR hfee & wed H fr=fataa wemt

T fa=m Hifsd:

1. 39 Sefafgear-ggg s & G, e
eIl Faq ST & o oF Jer vq fesmed
o T 2

2. A HE Hfee & TAA & FHE FW@ B

ST el § 9 HA-A/E TE 2R

(a) Faa 1

(b) Faad 2

(c) 1 3R 2 g

(d) Td 1 RTE 2

Fsia et eAfufram, 1972 & 6<d #

frafafeg wel W fomr Fifs3:

1. o= o SR uredl i fafa= genfaar &
T, 39 Al & FeieH, el e,
el e ST T SRl % SR % et
w fEEm % el s FE e eE
L 2

2. Tg AfufEm S-FvHR SR R W ]
&l e 2l

31.

32.

33.

34.

With reference to dark energy, consider the
following statements:

1. It is a mysterious form of energy, which
constitutes a significant part of the total
energy content of the universe.

2. It is believed to be responsible for the
observed rapid expansion of the universe.

3. About 98% of the universe is dark energy.
How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None
Which of the following statements regarding Light
Emitting Diode (LED) is/are correct?

1. LEDs are semiconductors that emit light

when electric current passes through them.

2. LEDs consume more energy than traditional
incandescent bulbs.

3. LEDs are usually made of materials such as
silicon and germanium.

Select the correct answer using the codes given
below:

(a) 1 only (b) 2 and 3 only

(c) 1and3 only (d) 1,2and 3
Consider the following statements with reference
to Biodiversity Credit:

1. It is designed to raise funds for the
conservation, restoration and sustainable use
of biodiversity-rich areas.

2. These work similarly to carbon credits.
Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

With reference to the Wildlife Protection Act, 1972,
consider the following statements:

1. Provides a legal framework for the
conservation of various species of wild
animals and plants, management of their
habitats, regulation and control of trade in
wild animals, plants and their products.

2. This Act does not apply to Jammu & Kashmir
and Ladakh.

Which of the statement(s) given above is/are

ST werl F ¥ hE-"/A e 27 correct?
(a) Fad 1 (b) wa 2 (a) 1 only (b) 2 only
(¢) 1 @2 =F (@ Fa 1 RTE2 (c) Both1and?2 (d) Neither 1 nor 2
e 641, UUH T, | 21, GET US, | 13/15, AR uH, ke | wite FoR-45 9 45-A4 T 47/CC, afetmeT
T s TR, et °, ufsrerr <inrer, fafaet TaR-2, 7 2k U, | 3Mehs Wi, faamrasw
(Magazine Test) IRESUREUIE = frecht TAEH, TR T HIA, T e, T

Phone: 8448485518, 011-47532596, 8750187501 :: www.drishtilAS.com

Copyright — Drishti The Vision Foundation



35.

36.

37.

38.

frfafea wul | faar wifa:

HIA-1: TESMIH JONferal e dwel & &R

R T R R e A € fod e

ool faehTq 1 wgren fierar 2

HA-11: TESMIE Tt W Srersia sranfat w1

T &g Wl ¢, T weet shi UeEr 9 gt 7

Swfm wUAl & 9N °, frefateg § 9 sE-w

T TE 7?2

(a) HUA-1 3R HeH-11 <A T&l & qe HeA-11,

HUA-1 &1 T @ 2l

HA-1 3R weF-11, I Tt & qo weA-11,

FUA-1 ®1 TE e T el

(c) HUA-1 T & 3R FHUA-11 Tord 2l

(d) HA-1 Terd € SR HeE-11 FEl 2

TEd e & SMuRl Jaed! U (DAT-SG) &

Hed o frefafed wal | faemr sifsa:

1. SE-TES & 99 W 9 ke dAdeHt
qfpa & a6 TPA” & FIA & g
ATE TS HT Gl 2

2. T8 ISRO % gR faswfad fear mn 2

(b)

ST Fo 9 HHA-TUA TE B2

(a) Had 1 (b) HaA 2

(c) 1 &R 2 g (d) a1 SR AE 2

aRd H geia a&hd @i feafq & gl #

frefafea wul ® faar wifa:

1. 9Ra =i aehd & fad wid 20 39 o
T T 2

2. YR H FSd AR & Th a9l fewm
Fi =R & T g € SR wwa
TR A el Wi T 2

ITE oAl § 9 wA-E/A T 22

(a) I 1 (b) HaA 2

(c) 1 &R 2 g () Ta 1 RTE2

frAfafea wol | faer wifa:

1. WHO % ST9R i foumemd fava «
H FHfy Affel &1 §g & T@ HROT | 9
T 2

2. g fqumear 99 et 8, 59 FE At w9
g 7@, fohg sTafue HieAerni & Hudh
o e 2

35.

36.

37.

38.

Consider the following statements:

Statement-I: Hydroponic systems allow precise

control over nutrient levels, thereby promoting

healthy growth of plants.

Statement-II: Hydroponic farming increases the

risk of water-borne diseases, which reduces crop

yield.

Which one of the following is correct in respect of

the above statements?

(a) Both Statement-I and Statement-II are
correct and Statement-II is the correct
explanation for Statement-I

(b) Both Statement-I and Statement-II are

correct and Statement-II is not the correct

explanation for Statement-I

(c) Statement-I is correct but Statement-II is
incorrect

(d) Statement-I is incorrect but Statement-II is
correct

With reference to the Distress Alert Terminal-
Second Generation (DAT-SG), consider the
following statements:

1. DAT-SG has the facility to send confirmation
of information back to fishermen who have
activated the distress alert from sea.

2. It has been developed by ISRO.

Which of the statement(s) given above is/are correct?
(a) 1only (b) 2 only

(c) Both 1and2 (d) Neither 1 nor 2
With reference to the status of wildlife trafficking
in India, consider the following statements:

1. India is one of the top 20 countries for
wildlife trafficking.

2. A large part of wildlife trade in India is for
international trade and there is no direct
demand for it in India.

Which of the statement(s) given above is/are correct?
(a) 1 only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
Consider the following statements:

1. According to the WHO, pesticide poisoning
is one of the leading causes of death among
agricultural workers worldwide.

2. Acute poisoning occurs when a person
comes into contact with a large amount of
pesticide in a short period of time.

SY ﬁai Forll # | FA-A/E T 7 Which of the statement(s) given above is/are correct?
(a) ®ad 1 (b) ®adA 2 (a) 1 only (b) 2 only
(¢) 1 @2 =F (d) a1 ST 2 (c) Both1and?2 (d) Neither 1 nor 2
e 641, UUH T, | 21, GET US, | 13/15, AR uH, ke | wite FoR-45 9 45-A4 T 47/CC, afetmeT
T s TR, T =, ufehr wier, fafae (-2, T e Ag, | 3Mehe uie, faemrasm
(Magazine Test) RS CCUCI IR RSt T, FEAHIS TG A, AT i, T
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T R & dey § frefafed § 9 wH-9

HU T &2

1. ek TARPR =g o SR o & fagor 9
T T 2

2. 3 IR W 3= SR et &5 H 9 S 2

3. 39 9H gL HR H 9gd &YW U § 9
T g R

= f@ T He w TEEd ¥ wE W R A9

HIfST:

(a) el 1 3R 2 (b) ®Ee 2 3R 3

(c) aa 1 3R 3 (d) 1,2 ¥R 3

e & ar H freAfafed wo W faeur

Fifer:

1. omih TH YR H 9fF doE T, S 9w
¥ W HHE & e & %o g 2l

2. ORI STy ieds @ gerfed w&l g
? 3R dad oI UiHARt & RO
g 2l

3. oMiere woe T Sordry 3R ST & T
Tut aret & H @ 2l

ST § @ fohad weH Tl ©?
(a) HIA TH (b) wa
(c) |t (d) g o T

fova =1 wad 991 wiwe ®we) ffafed § @
fhg <o o ferm 32

(a) &9 (b) -TST
(c) wrefern (d) guE
frefafe W fem Fifm:

1. 9%

2. TERT

3. gHfed

SF ¥ ¥ foad femrt g fAaifia oeey &
I ©?

(a) HIA TH (b) ®aA ]

(c) It o= (d) =18 off T

get fogm ae T & e H frefafed sl =
foar Fifem:

1. 78 faam SR Greifiest H5me™ & e 2
2. TESh Ifaiia T SISl SR GHEA! S @i
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Which of the following statements are correct
regarding rock glaciers?
1. Rock glaciers are made of a mixture of rock
debris and ice.
2. They are generally found in high altitude
areas.
3. Very little amount of water is stored in their
frozen core.
Select the correct answer using the codes given
below:
(a) 1and?2only (b) 2 and 3 only
(¢) 1and 3 only (d) 1,2and 3
Consider the following statements about
thermokarst:
1. Thermokarst is a type of land subsidence
caused by the melting of ice-rich permafrost.
2. Thermokarst is not affected by climate
change and is caused only by geological
processes.
3. Thermokarst occurs only in areas with hot
climates and high levels of rainfall.
How many of the above statements are correct?
(a) Only one (b) Only two
(c) All three (d) None
World’s largest permafrost crater is located in
which of the following countries?
(b) Canada
(d) USA

(a) Russia
(c) Australia
Consider the following:
1. Cirque
2. Esker
3. Drumlin
How many of the above are examples of landforms
deposited by glaciers?
(a) Only one (b) Only two
(c) All three (d) None
Consider the following statements with reference
to PRITHvi Vigyan (PRITHVI) Scheme:
1. TItis a scheme of the Ministry of Science and
Technology.
2. This includes exploring the polar and high
sea areas of the Earth in the direction of

I feam # et & ] 5 T T TR el discovering new phenomena and resources.
wl @ ! Which of the statement(s) given above is/are
Iwde oAl § 9 HE-a/d T 8R? correct?
(a) Fad 1 (b) waA 2 (a) 1 only (b) 2 only
(¢) 1 3R 2 <H (d Fa 1 RTE2 (c) Both1and?2 (d) Neither 1 nor 2
641, UUH T, | 21, GET US, | 13/15, AR uH, ke | wite FoR-45 9 45-A4 T 47/CC, afetmeT
e 3 s TR, et °, ufsrerr <inrer, fafaet TaR-2, 7 2k U, | 3Mehs Wi, faamrasw
(Magazine Test) IRESUREUIE = frecht TAEH, TR T HIA, T o, T
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Tl % wed § frefatad sl W fomm

Hifer:

1. 7% 39 feufq 1 yefefa & &, o9 oW =
T B 1 ST B I R Y ferk et B

2. HYHd TENAHA & dgd W Th Gehdl B

3. efivdl, Soelt varw, 9w SR wfaer den
SO A e 3 Al § Wi )

F= e MU FHe FY HeEa ¥ w9 IW Hw T

HIfS:

(a) e 1 3R 2 (b) wae 2 3R 3

(c) wad 1 3R 3 d 1,2 3R 3

Yl wehamal & 9R § fefafed ¥ 9 sE-w

FHU T B2

(a) YT THemd a9 YuM & HEq gonfert
St yefta & WS €

(b) e whard ST e § amEd T #)

(c) 3 wrhard HiEAi § HUER 8 W B

(d) 3 gErEy ¥ T SR fer 9y gorHH 9 SE
B 2

IR Sieil | Sifd emenfia dgaa & ged o

frfafea wul | faer wifa:

1. TS § Head i SiErerl S e
TrEdl =t e d@id T R

2. Y= SME SA RIS b SATIAR HeR AT TR
Sifq, e S o= Sfad & hfed @l
Ag-Tisl @H S B wM YU T L

T wor ¥ @ FA-AE w3

(a) ®ad 1 (b) Haa 2

(c) 1 3R 2 < (d) T 1 A2

foren =t anftier frafa faé (ASER), 2023 &

Hed o frfafed wul w faer #ifsa:

1. freid @ =fxa a8 ROl wwa 5 gamse
st & ferd etferm wfawetl 1 SeaR s
% aX H U fuR w2

2. ASER AT-W{&™l G ‘9oH T{HIH
HIRPEYHA F AFifSa Tw  usgsArdt
AR -l e e B

ST weAl § 9 wA-A/A T 2R

(a) Had 1

(b) Had 2

(c) 1 3R 2 <

(d) Td 1 A2
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With reference to hypothermia, consider the
following statements:

1. It represents a situation when the rate of
heating of the body is greater than the rate of
cooling.

2. Shivering may stop as hypothermia progresses.

3. Symptoms include slow, shallow breathing,
confusion and amnesia, and drowsiness or
fatigue.

Select the correct answer using the codes given
below:

(a) 1and?2 only (b) 2 and 3 only

(c) 1and3 only (d) 1,2and 3

Which of the following statements is true about
the polar vortex?

(a) Polar Vortices are large-scale weather
systems that form over the polar regions.
Polar Vortices rotate counterclockwise in the
Northern Hemisphere.

(b)

(c) These cyclones weaken in winter.
(d) These are mainly associated with warm and
stable air masses.

With reference to caste-based discrimination in
Indian prisons, consider the following statements:

1. In Rajasthan, Mehtar have been entrusted
with the responsibility of toilets
Brahmins as cooks.

2. According to the West Bengal Jail Code,
prisoners belonging to the Mether or Hari
caste, Chandals and other castes are assigned
minor tasks like sweeping.

and

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2
Consider the following statements with reference
to the Annual Status of Education Report (ASER),
2023:

1. The report with focus on adolescents provides
new ideas on how to improve learning
outcomes for the young population in India.

2. ASER is a nationwide citizen-led household
survey conducted by the NGO ‘Pratham
Education Foundation’.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

641, WO T, | 21, GET S, | 13/15, A9Ra AT, ke | wite FoR-45 9 45-A 76 | 47/CC, afefres
e 23 s TR, et °, ufsrerr <inrer, fafaet T@EN-2, B die U, | oMehe wid, faarmsm
(Magazine Test) [ERESSUSIIY g faoeit G, TATRIS THET B, T it e
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e @ A offas geatur (Framor)  sifufem,

1956 & T W HIa S=9 A & g 5

T o % Hed § fefafed we w faeEm

EAISPE

1. & 3=a <O | afufEg &t um 5 &
BT IR & S(dqid Uew ki o gfmferd
M R

2. 39 hEA % STER TEh! W it JehgH1 Jelrdl
S HeRdl 2

IfE w9 9 SE-FUA w1 27

(a) ®aa 1

(b) Fad 2

(c) 1 3R 2 <

(d) T 1 A2

anfeen TRHR g YA e Saren ifget o=

Haiferd -

(a) TR ST FRam A

(b) 10-19 ¥ *I ThHa SHA AStRA ®
a1 foare 9@ fAued | gefual

(c) TR T 7o ¥ A 1 TgA YA FH I

(d) snfeardt wgfwar w1 foren 9

qRd H arel-faeme | Hefua fefafea s o

IEEESCAISDR

1. 9Ra ¥ 39 1993 ¥ aret-faame = Amet 49%
g, S ad 2021 H HEHL 22% @ T B

2. WU, 9SE, rqQ den afvem ama 7 2016 §
2021 & < sfersht sar-faame & 9fg & 2

3. IW YR R efEmom ¥ 2016 § 2021 ®
a9 aTetenl & aa-faaE o 9fg € @

48.

49.

50.

Consider the following statements in the context
of the recent judgement given by the Kerala High
Court regarding the Immoral Traffic (Prevention)
Act, 1956:

1. The Kerala High Court has considered the
customer to be included under the word
‘procure’ in Section 5 of the Act.

2. According to this decision, customers can
also be sued.

Which of the statement(s) given above is/are correct?
(a) 1only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

Advika platform used by Odisha government is
related to-

(a) Safety of elephants.

(b) Tackling child marriage of school going girls
aged 10-19 years.

(c) Ensuringaccess totap waterto every household.
(d)
Consider the following statements regarding child
marriage in India:

1. The cases of child marriage in India were

Education of tribal girls.

49% in the year 1993, which has come down
to 22% in the year 2021.

2. There has been an increase in girl child
marriage between 2016 and 2021 in Manipur,
Punjab, Tripura and West Bengal.

3. There has been an increase in child marriage
of boys in Uttar Pradesh and Haryana

ST | § forad w9 2 between 2016 and 2021.
(a) ®aA TH (b) ®ad qA How many of the above statements are correct?
(©) @i T (&) FE W (a) Only one (b) Only two
51. W= i e Frefarad o § frag dafia 22 (c) All three (d) None
(a) weaTaR (b) TS 51. Statue of Oneness is related to which ofthe.: following?
() Fresmert=rd (d) = @ B 7| @) ifadﬁval:hlm <'(°1) iama“?’;
. L ¢) Nimbarkacharya one of these.
2. e Fref 1 I Vet % W A Frte | ) e () None
. . 52. Which of the following statements is not correct
¥ ¥ HE-U FUA TR TR 72 . )
. regarding the Nagara style of temple architecture?
(@) ) (a) Nagarastyleoftemple architecture originated
W.ﬁ §§I ‘ . in Northern India.
(b) ¥ Wi T forren %2 oAl e TH S (b) These temples are characterised by a high
ﬁ?T@T 2 . spire with many layers.
(c) HfeX T a|‘| S A SR T ARfET qe (c) The plan of the temple usually includes a central
o w #s iR wira g 2 sanctum surrounded by the Pradakshina path.
(d) R et % el 1 A wforey cemse wAfd (d) Nagara style temples have a symmetrical
g 3R eTRR fafa= HTSM Td FURE & architectural layout and often include several
fod ®E Wey a2 < pavilions for various rituals and ceremonies.
e 641, UUH T, | 21, GET US, | 13/15, AR uH, ke | wite FoR-45 9 45-A4 T 47/CC, afetmeT
T s TR, T =, ufehr wier, fafae (-2, T e Ag, | 3Mehe uie, faemrasm
(Magazine Test) RS CCUCI IR RSt T, FEAHIS TG A, AT i, T
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53. freafafaa g w four +ifse: 53. Consider the following pairs:
(v e ) () (Major Fair) (State)
1. TR Hel B qfegy FTE 1. Gangasagar Fair — West Bengal
2. R el e 2. Push#ar Fair o Maharashtra
e e — ~ 3. Hemis Gompa Fair — Ladakh
) ) How many of the above pairs are correctly
3§5ﬁ1\5r d @ﬂﬂﬁgl%i%? matched?
(a) HIA TH (b) HaA T (a) Only one (b) Only two
(c) |t @ (d) i ot T (c) All three (d) None
54. Trefafed w =R Fifs3: 54. Consider the following:
1. Tamil
1. qfue '
. 2. Sanskrit
2. H&hd 3. Or
. Oriya
3. 3t Y
’ 4. Kannada
4 : How many of the above mentioned Indian
S H 9§ fohal wRdt Are s wres A languages have been given the status of classical
T T &= T B2 language?
(a) A TH (b) Fad a (a) Only one (b) Only two
(c) Faa dF (@) T4 =" (c) Only three (d) All four
) . 55. Kodi Pandalu is related to-
33 . 7 wlferd 2 (a) Dance performed during Pongal.
(@) SICIN 2l S Sl (b) Fairorganised ontheoccasionofMahashivratri
(b) FHAleH H TRINENHT & FIwR | A= in Karnataka.
el (c) Local name of the world’s smallest cow
(c) A ¥ U 9 aretl fava 1 qad s T found in Kerala.
T Tenfae AmM| (d) Local name for cockfighting in Andhra
: ; ; Pradesh
(d) T F ASE H MY YW § T I :
. . .| 56. Consider the following statements regarding
56. R A TR w A Feord indentured labour in India:
™ forem e 1. Indentured labourers were brought to India
1. ffafen =+ gorEw ¥ =@ 9l § wm from Myanmar mainly to work in tea
FH & fod =AR 9 9RG @@ T e gardens.
2. fu, fafmion i) Yo fmfo s fafa= & 2. Indentured labourers were recruited under
o gt A fer fptnfen a9 ST indentured agreements to work in various
tors such as agriculture, manufacturing
TR & ot feRan >ee ’
e RElR and railway construction.
ST Herl H | FH-/H T B/E? Which of the statement(s) given above is/are
(a) ®aa 1 correct?
(b) Had 2 (a) 1only
(c) 1 &R 2 g (b) 2 only
() Td ] R A2 (c) Both1and2
. . d) Neither 1 2
57. W & # AR | 57 ;V)h'hlfet; I;OL i tries h tl
. ich of the following countries has recently
YO ?
STt gﬁ Kl 27 announced its exit from OPEC?
(a) STC (a) Angola
(b) SR (b) Nigeria
(c) TSI (c) Algeria
(d) <ffern (d) Libya
e 641, UUH T, | 21, GET US, | 13/15, AR uH, ke | wite FoR-45 9 45-A4 T 47/CC, afetmeT
T s TR, et °, ufsrerr <inrer, fafaet TaR-2, 7 2k U, | 3Mehs Wi, faamrasw
(Magazine Test) IRESUREUIE & faeet TEH, TEATRIS THET AT, TR nt, T
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58.

59.

60.

e v & Hed o frefafea § § wE-9

FHUT TE 87

1. enfE v U yqE AR <l 3R
yeee o, fo=i e1gd 9<id & fagid &
Tafea feam

2. 31 9 & TSRl %t H gdHE wie |
g3 ol

3. onfe wiehwemd 7 SuRl, TR SR g
1T W =es fewfort ferd

4. IRH A femewt &1 TR FWH & o
IRd & fafv= feedi o ‘02’ e 9 eerHt
I TATTT i

F= e MU FHe wY HeEdr ¥ wE W H T

EAISDE

(a) e 1 3R 2 (b) et 2 ¥R 3

(c) ®aei 1,3 34 (d) 1,2,3 34

T5q A7ia ® Hed § FrAfated wudl W faER

Hiferd:

1. ¥E arEdfaehdl %1 TR-SEd Yehfd T SR
2, 7€ <1 hid B Toh Ao e (S
e eTEdfeehdl (STETT) % WHA B

2. 3 [E & FIER F@ § GER I o=
qe SAf=Tar, <A UE Hew i 2l

IwE FA W 9 SE-F/A HE 27

(a) ®aa 1

(b) e 2

(¢) 1 3 2 =H

(d T 1 AT 2

IRAE A T (TCESTE) % Had H

frAfafea wol | faar wifa:

1. TTHATE H T 1861 H fofest &R gr
IR < YA foRmd 1 Site SR wRer
& o &t T o

2. 9Rd WHR & F & o @as w1 9
9 H B

3. B W UUEeTE SR SMEeTEd Wey 7 R
HYH ST % 9% ORI & TSR H gl
% Ud & A% o GiEhfae fRaar a9 gH
% HT YRA R

ST A ¥ o wer wet #2

58.

59.

60.

Which of the following statements are correct
regarding Adi Shankaracharya?

1. Adi Shankaracharya was a prominent Indian
philosopher and theologian who consolidated
the doctrine of Advaita Vedanta.

2. He was born in present-day Kerala in the 8"
century AD.

3. Adi
commentaries on the Upanishads, Brahma

Shankaracharya wrote extensive
Sutras and Bhagavad Gita.

4. He established four called
‘Maths’ in different parts of India to propagate

institutions

his teachings.
Select the correct answer using the codes given
below:
(a) 1and?2only (b) 2 and 3 only
(c) 1,3 and 4 only (d) 1,2,3and 4
Consider the following statements in the context
of Advaita Vedanta:

1. It emphasises the non-dual nature of reality,
claiming that the individual soul (Atman) is
identical with the ultimate reality (Brahman).

2. According to this philosophy, both the
difference and indifference of the world from
Brahman are of equal importance.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

Consider the following statements with reference
to the Archaeological Survey of India (ASI):

1. ASI was established in 1861 by the British
Government to investigate and preserve the
archaeological heritage of India.

2. It works independently without government
monitoring.

3. Recently, a joint study by ASI and T
Kharagpur presented evidence of cultural
continuity even after the fall of Harappa in
Vadnagar, Gujarat.

How many of the above statements are correct?

(a) HId TH (a) Only one
(b) waA I (b) Only two
(c) &t = (c) All three
(d) =i o 7 (d) None
e 641, UUH T, | 21, GET US, | 13/15, AR uH, ke | wite FoR-45 9 45-A4 T 47/CC, afetmeT
TS @St TR, S AT, ufyrent =T, fafae TaR-2, 7 2k U, | 3Mehs Wi, faamrasw
(Magazine Test) IRESUREUIE = frecht TAEH, TR T HIA, T e, T
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61.

62.

63.

64.

HE-H HYA qY HIA AR sfufEmE, 1960

%! ek w9 Y qwir 872

(a) Ao ol T SHeRl TR AN Bl ©

AR Sl e’ w1 e e L B

afufem TARSH & WeR % fod See

1 BN A1 WA W Glqse e 2l

(c) A9 gerey ¥ Iy & fod Sl &
ftaes & fafafma #@ & fo aifufrafoa
fopam T e

(d) 3T |

Tl GUH B dfed AeAHIET HieE g & ANEEL

% Ted o frefafaa woml W faar wifs3:

1. =7 1916 ® oy fegg fovafaares
(ST=r) Y TMOAT Y, S Agarst fafafi
T g &1 T AN AR Epia T e
@l T fe=m

2. S 1920 # fafeer aeqer @R foen weom
% IfeShR i Fehlerd HId g HeTed Tef
UL o ) L o | L A G e e s |
w9 9 9 femm

3. S feg meme &t Trae | Hewqul gfireht
IEEIE]

Sude H 9§ o e wet #72

(a) HId TH (b) wad ]

(c) |t @4 (d) & o =&

INS s% & " o fre=fafe wemi w fomr

EAISPE

1. 38 9o 15 srel foemaraem oo™ & qgd
CERIRiCI

2. g OO AW i GRfe & fad s
T R

(b)

SUgH weAl W W wA-G/d T 22
(a) *ad 1 (b) T 2
(¢) 1 3R 2 <At (d) Td 1 A2

CERT-In & W’d ¥ fr=fafEad wedl | fo=m

EAISPE

1. ¥€ 9Ra ® i iR fRfeim S wrgew qeen
T g fue & ol s Aed e Rl

2. I8 SRl 2004 ¥ uRETer | 2

IwdE w9 9 SE-FUA TE 22

(a) ®ad 1

(b) Faad 2

(c) 1 3R 2 <

(d A1 AT 2

61.

62.

63.

64.

Which statement accurately reflects the Prevention

of Cruelty to Animals Act, 19607

(a) The Actapplies only to domesticated animals
and does not protect wild animals.

(b) The Act prohibits the killing or maiming of

animals for the purpose of entertainment.

(c) The Act was enacted primarily to regulate
the transportation of animals for slaughter.

(d) All of the above.

Consider the following statements with reference

to the contributions of Pandit Madan Mohan

Malviya in the freedom struggle:

1. He founded Banaras Hindu University
(BHU) in 1916, which became a centre of
nationalist activities and promoted Indian
culture and education.

2. He actively participated in the non-
cooperation movement launched by
Mahatma Gandhi in 1920, advocating the
boycott of British goods and educational
institutions.

3. He played an important role in the
establishment of Hindu Mahasabha.

How many of the above statements are correct?

(a) Only one (b) Only two

(c) All three (d) None

Consider the following statements with reference

to INS Imphal:

1. It has been built under Project 15 Bravo
Visakhapatnam Class.

2. It has been designed to secure sea routes.
Which of the statement(s) given above is/are
correct?

(a) 1only (b) 2 only

(c) Both1and2 (d) Neither 1 nor 2
Consider the following statements with reference
to CERT-In:

1. It is a nodal agency to tackle cyber security

threats like hacking and phishing in India.

2. It has been in operation since January 2004.
Which of the statement(s) given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and?2
(d) Neither 1 nor 2

641, WO T, | 21, GET S, | 13/15, A9Ra AT, ke | wite FoR-45 9 45-A 76 | 47/CC, afefres
e 23 s TR, et °, ufsrerr <inrer, fafaet T@EN-2, B die U, | oMehe wid, faarmsm
(Magazine Test) [ERESSUSIIY g faoeit G, TATRIS THET B, T it e
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65.

66.

67.

AT &R ST -HTHR 7R e e (MLIK-

MA) ¥ gafya frefafad wemi w foer Fifse:

1. 98 |81 SH-%hvdR ¥ J8 STaskar! Aed
3 92 & g | Th SRR TSt
T3 2l

2. 39 9meH I UAPA, 1967 &t &0 3(1) &
T8 TR WS sifa fehan e 21

ST For H§ § HHA-TUA TE B2

(a) Had 1

(b) Had 2

(c) 1 3R 2 <

(d) a1 RAE2

foerofaerr fafa o defua f=fafag se =

fo=r wifsE:

. 98 T g ifg 2|

2. dkg &1 fowmifysr wfafa o ws=@m
=+ fowrmfuer wfafa #1 emien sifus a5
B 2

3. T & H Teomd i fowifusr wfafa =
TUg % viiaerel @ % SN felfad gu
11 "= 9 wfdfsran /e w1 fofg femn 21

Stde | 9 fohan we wet &2

(a) e Th

(b) o &

(c) 9t =

(d) =g ot 7

Torw e fadt ufEsm & weed # frfafed

FAl W fo=m Fifee:

1. 98 YR & Yo TA o HeAd | i
TR H fAo-gd TREr @ Sed e
amfefer Tiferamn g

2. 9RG R A Teld, G TBel HNA-YgH &l
e & i & ford wedta o w1 @)

ST Fo A § HA-TUA TE B2

(a) Faa 1

(b) Had 2

(¢) 1 32 <H

(d) T 1 A2

65.

66.

67.

Consider the following statements regarding
‘Muslim League Jammu Kashmir (Masarat Alam
faction)’ (MLIK-MA):

1. This organisation is a separatist political
organisation in Jammu and Kashmir led by
former terrorist Masrat Alam Bhat.

2. This organisation has been declared an
unlawful organisation under Section 3(1) of
UAPA, 1967.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both1and2

(d) Neither 1 nor 2

Consider the following statements regarding
Committee of Privileges:

1. Itis a standing committee.

2. The Privilege Committee of the Lok Sabha
has more members than the Privilege
Committee of the Rajya Sabha.

3. Recently, the Privileges Committee of Rajya
Sabha has decided to seek feedback from 11
members who were suspended during the
winter session of Parliament.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements with reference
to Gelephu Smart City Project:

1. It will be an economic corridor connecting
South Asia to South-East Asia through the
North-Eastern states of India.

2. The Government of India has agreed to
construct the first India-Bhutan railway line
up to Gelephu.

Which of the statement(s) given above is/are
correct?

(a) 1only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

: ¥ frfafed 9 & 679 39 1 gResifd

68. ¥kt & N il 68. Inflation of which of the following countries has
200% ¥ B ¥ recently exceeded 200%?
(a) TEHTE (a) Guatemala
(b) iRt (b) Sri Lanka
(ORRUETS (c) Pakistan
(d) erid (d) Argentina

641, UUH T, | 21, GET US, | 13/15, ARS uH, ek | wiie FoR-45 9 45-4 TS | 47/CC, AfetreT
B 2R s TR, et °, ufsrerr <inrer, fafaet TaR-2, 7 2k U, | 3Mehs Wi, faamrasw
(Magazine Test) IRESUREUIE = frecht TAEH, TR T HIA, T o, T
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69.

70.

71.

72.

o= Tyfe @ A & §eH | frefated

FAl W fo=m Fifee:

1. 39 "fgen wd a1a fa™ T & g’ o2t
et o3t UgIsl AW & TH 9M % ®Y
o & fman @ R

2. I8 dArer feret aferemt =t fYen e feere
% T B W R B R IRT H R 2

3. 3@ AN & o T 9fEr arfaeet &
o stfuepan <1 @ @idd Tk 2l

ITH § @ fohae wer wEl ©2

(a) sheed TH

(b) wadA ]

(c) |t I

(d) HE of T

et A %G1 o Ffafaa wom w faear

Hifsa:

1. Hfeen IR ot foemE e 3 fase vt
% Ted T e A hl U e o
ECCRERI

2. TH ISl % qed [ ARG § SIS Sl
R %9 Tfua fwan smom

STE oAl § 9 HA-T/A T 2R

(a) ®aa 1

(b) HadA 2

(¢) 1 3 2 =H

(d) Td 1 A2

T <R fiord feem -

(a) WA TR

(b) HETEA

(c) uf¥=m sma

(d) BTG

Zfeqo-gfeqor weam & e # fr=fafea o 9

HIA-| %Y TE €2

(a) I8 TAEA WEY & W b dd FEIEA,
TRl IR FH % Hed T SH-9SH
1 HRIq e 2

(b) ToH favr &9 9 farolt mend o faemmasiia
<9 I fokfad <M g Y&H HT S A
anfefer wermar e 2|

(c) TE gEAEY ¥ HEEHAl iR SR YA &
fod fammsie <o & = wfaersl ek
wlasfedm ® #fza 2

(d) ST @t

69.

70.

71.

72.

Consider the following statements with reference
to Sukanya Samriddhi Account Scheme:

1. It has been launched by the Ministry of
Women and Child Development as a part of
the Beti Bachao Beti Padhao campaign.

2. This scheme has been started to meet the
expenses of education and marriage of a girl
child.

3. For this scheme, a family can open a
maximum of two accounts for girl children.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements with reference
to Palana Scheme:

1. The National Creche Scheme has been
converted into Palana Scheme under Mission
Shakti in the Ministry of Women and Child
Development.

2. Under this scheme, créches will be established
at Anganwadi centres across India.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both1and2

(d) Neither 1 nor 2

Buxa Tiger Reserve is located at-
(a) Madhya Pradesh

(b) Meghalaya

(c) West Bengal

(d) Chhattisgarh

Which of the following statements is correct in the

context of South-South cooperation?

(a) It refers to cooperation and exchange of
resources, technology and knowledge among
the countries of the Global South.

(b) It includes economic assistance provided by

developed countries to developing countries,

especially in the Southern Hemisphere.

(c) It mainly focuses on competition and rivalry
among developing countries for resources
and market dominance.

(d) All of the above.

641, WO T, | 21, GET S, | 13/15, A9Ra AT, ke | wite FoR-45 9 45-A 76 | 47/CC, afefres
e 23 s TR, et °, ufsrerr <inrer, fafaet T@EN-2, B die U, | oMehe wid, faarmsm
(Magazine Test) [ERESSUSIIY g faoeit G, TATRIS THET B, T it e

Phone: 8448485518, 011-47532596, 8750187501 :: www.drishtilAS.com

Copyright — Drishti The Vision Foundation



73.

74.

75.

frefetad & @ -8 we Sl (o T
Tl HY) 3R EF 3M1h g food & = ey
H TE BT 9 g9 2/3wd &2

1. SITEE A HULM YUel i Tl SR 31T
F % AR GG Dl FH FHh AR FHEAT
e 5 2l

2. SHuEdt 3 #% U iR rureH savaeharet
T R a5 & RO AR &I H
Sifeerd =i g fean 2

3. Siugel &1 $9F A% g3 foemg W &k
HewIqul gore &l ], iR I8 heet aegal
AR et % HUUE G Hetud 2

F= e MU FHe wY HeEdr ¥ wE W H T

FHife:

(a) Had 1

(b) et 2 3R 3

(c) ®ad 3

(d 1,2 3R 3

ffafed wa W foer Fifsa:

1. ofgerdt ofR goff sme o faReft smeme dref
H1 GqAl STl ARl T IS oY
THI & HR W GEH Tl 2l

2. STHhIHE USGAT Y SWhiesHE aAf |
qiffEerfashta &5 1 rehfdeh Hqer afed ot
it B

ST For 9 HHA-UA TE B2

(a) Fad 1

(b) Faad 2

(c) 1 3R 2 <

(d T 1 AT 2

Ay o1 e ® "o # fFrefafE wer W

fo=r wifsE:

1. fova s iR gfE® & g0 2023 o &
T RO =@ e ¥ 99 W R gH
I S R

2. 39 fOR & ogER [WF Ifa & 3=
TeAH 3T o & <9 H AT 6.9 FHIS T=d
W e § S ® 2

SwE w9 9 SE-FUA T 22

(a) Had 1

(b) waa 2

(c) 1 3R 2 <

(d) T 1 ARTE2

73.

74.

75.

Which of the following statements correctly
reflects the relationship between GST (Goods and
Services Tax) and Ease of Doing Business?

1. GST has made doing business easier by
simplifying the taxation system and reducing
the cascading impact of taxes.

2. GST has increased the complexity of doing
business due to frequent changes in tax rates
and compliance requirements.

3. GST has no significant impact on ease of
doing business, as it deals with taxation of
goods and services only.

Select the correct answer using the codes given
below:

(a) 1 only

(b) 2and 3 only

(c) 3only

(d) 1,2and3

Consider the following statements:

1. In the Western and Eastern Ghats, foreign
invasive plant species have reached the verge
of extinction by becoming food for wild
animals.

2. Invasive species disrupt the natural balance
of the ecosystem in dry tropical forests.
Which of the statement(s) given above is/are

correct?

(a) 1 only

(b) 2only

(c) Both 1 and?2

(d) Neither 1 nor 2

Consider the following statements in the context
of global child poverty:

1. According to a report presented by the World
Bank and UNICEF in 2023, every second
person suffering from extreme poverty is a
child.

2. According to this report, about 69 million
children in the upper middle income group
countries of the European Union are living in
extreme poverty.

Which of the statement(s) given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both1and2

(d) Neither 1 nor 2

641, WO T, | 21, GET S, | 13/15, A9Ra AT, ke | wite FoR-45 9 45-A 76 | 47/CC, afefres
e 23 s TR, et °, ufsrerr <inrer, fafaet T@EN-2, B die U, | oMehe wid, faarmsm
(Magazine Test) [ERESSUSIIY g faoeit G, TATRIS THET B, T it e
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76. U ol &7 feoett @R ifufrad, 2023 | 76. Consider the following statements with reference

T f i . to the Government of National Capital Territo
RES h EES : p ry
. @' fuf u=t gearh fafea dan of Delhi Act, 2023:
IR ToT TR QEI'; Toé IfeRToT Y T 1. This Act intends to establish a permanent

authority to be known as the National Capital
Civil Services Authority.

2. This Act confers final authority on the LG
and in case of any difference, the decision of

FHT HeM TEA B
2. I8 fufTam LG =1 Sifaw W 9o
2 dun frdt off wase =) frafd § LG &1

fofer sferselt € the LG will prevail.
SHF FHoAl § 9 FA-TA T /2 Which of the statement(s) given above is/are
(a) Fad 1 (b) Had 2 correct?
(c) 1 @R 2 g (d) Fd 1 SRAE 2 (a) 1only (b) 2 only
77. qRA-®Y WAGE Geu ® g § frefafed (c) Both 1and2 (d) Neither 1 nor 2
FUA W R F5E: 77. Consider the following statements in the context
|. 9Rd GfFT ©9 4 &9 U TrReihEE & o of India-Russia strategic relations:
§ gor 2 1. ;n(ilia isb acti;/ely engaged in importing
- . ydrocarbons from Russia.
> ﬁﬂﬁ;ﬁ : mﬂﬁ ?m;\jl?rqé ", 2. Russia is an important partner of India in the
. . peaceful use of nuclear energy.
3. w4 QAW | A T S I H 3. Anuclear power plant is being constructed in
el Wi i i e < 2 Andhra Pradesh, India with the cooperation
Swde § 9 fohad e wEl €2 of Russia.
(a) Had TH (b) ®ad ] How many of the above statements are correct?
(c) Tt d= (d) w1 o 7T (a) Only one (b) Only two
78. SR ST w1 oA feorfa & geed F Frefafaa (c) Allthree (d) None
FI | fo=r i 78. Consider the following statements with reference
. 9 S %1 9% NPA 2015 & a2 9 to the present situation of Indian banking:
ot g g 1. Gross NPAs of Indian banks are at their
T s T A T qafela lowest level since 2015.
S | 2. Indian banks are currently displaying strong

liquidity levels.
3. According to the RBI’s Financial Stability
Report, the capital-to-risk-weighted assets

3. RBI &1 fada feemar faré & o1UR,
S-SHifEw-TRa Hafd ST 16.8% & 938

W W g ratio is at a healthy level of 16-8%.
EEREN # @ foRa e W 27 How many of the above statements are correct?
(a) HIA TH (b) FaaA I (a) Only one (b) Only two
(c) 9t = (d) =g o T (c) All three (d) None
79. TSI 9 GaEtud goune gau & ged % | 79. Consider the following statements with reference
frefafed o @ foar | to the constitutional provisions related to the
1. U T TR h1 Gle A & fad Governor: , ,
57 2 21 1. The Governor is bound to follow the advice

of the State Government.

2. Twdl o< &1 &9 B TS HT W
T YA T W ToT TR 1 Tedd 9

2. The power of the Governor to pardon a
prisoner is actually exercised with the

fefen S 21 consent of the State Government.
3. e faeere 1 gl % forem % fort s 3. He can reserve the bill for the consideration
T T B of the President.
3":""3,7"5' FoAl ¥ ¥ HA-¥ T 2 Which of the above statements are correct?
(a) sae 1 3R 2 (b) ee 2 3R 3 (a) 1and?2 only (b) 2 and 3 only
(c) Waed 1 3R 3 (@ 1,2 3R 3 (¢) 1and3 only (d) 1,2 and3
(Magazine Test) fareeft- 110009 % fireett T, T e i, T, e
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80.

81.

82.

frefafes gt w faem wifs@:
(GaeTieR gur (gzma)
T )
l. T@IEA T& - gAY T aeFen
Tfifeafaat =
BIgHL TIIA i
Frde qU BH |
Teel &l g
e
2. TESR AMWE  —  FgHd 1 qOE
T H T D
MR R
3. gt s - dfaum 9 weeufa
% JERGAd SR
F FH HT
fowfer &t
S o 9 fora g wet gufea €2
(a) e ThH
(b) wad ]
(c) 9t =
(d) ®E of T
T E qAERIfG R SEH weshl @ gt
frfafea wol | faar wifa:
1. wfesat &1 sgdt &wimal &1 §99 CPI
AEHITd W & gAE TE qedl
2. 3 CPI HEERIfd &1 S0 Had a1
e 2l
ST FoA H§ 9 HHA-TUA TE B2
(a) Fad 1
(b) Faad 2
(c) 1 3R 2 <

(d T 1 AAE2

IR Faem & A F SFTER, HHE-G1 HeH

0% gaud fagidl %1 gdiay 9 9 gt 82

(a) 9RAE Gfgum o= @t ¥ W AfF
ATFR T SR T B

(b) YR WfouM Wk enffer T 1 TA9AT
T e 2

(c) YR Wfgum w1 @eg Ieft ARl & o
H B

(d) Swga |+l
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Consider the following pairs:

(Constitutional (Suggestions)

Reform

Commission)

1. Sarkaria —  Except in rare

Commission and compelling
circumstances,
the Governor
should not be

removed before the
completion of his
tenure.

Majority test based

on the opinion of
the Governor

2. S.R. Bommai -

3.  Punchhi —
Commission

Recommended to
remove the phrase
‘subject to the
pleasure of the
President’ from the
Constitution

How many of the above pairs are correctly

matched?

(a) Only one

(b) Only two

(c) All three

(d) None

Consider the following statements regarding food

inflation and its drivers:

1. Rising vegetable prices have no impact on

overall CPI inflation.

2. Cereals are the second largest driver of CPI
inflation.

Which of the statement(s) given above is/are

correct?

(a) 1 only

(b) 2 only

(c) Both 1 and?2

(d) Neither 1 nor 2

According to the philosophy of the Indian

Constitution, which statement best reflects its

fundamental principles?

(a) The
individual rights above all else.

(b) The Indian Constitution seeks to establish a
religious state.

(c) The aim of the Indian Constitution is to
ensure justice, liberty, equality and fraternity

Indian  Constitution  emphasises

for all citizens.
(d) All of the above.
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86.

%k qehre & G3d H frAfafed weml W

fo=r wifsE:

1. e, Sfcd Teadad Hed® e
Tehiteh ohT IUANT ik T W B

2. Eiuther Gyt Hifea €, S 999 3R sfifea
gt o uRadd w & fod enféfwfaee
3IeATSI™ T ITA HI@T 2

ST oAl ¥ 9 HA-E/E T 22

(a) ®aa 1 (b) ®ad 2

(¢) 1 @ 2 =H (d Fa 1 RTE2

qa sfye’l & fofem o frdem & e 4,

frfafea wol ® faer wifa:

1. FO< *i g8 vfed § for 9 fawen 9, grem
I, gferd, ST 91 SREAR &% & o
HERG AN & T IR it fafy aee
reiferd = T Y w2

2. afx 9Ra & forelt &1 # o fafy @ @t @
gog fafy g g sifueri &1 frdfam =
T T Hehdl 2

ST HeH H W HHA-A TE B2
(a) e 1 (b) Hae 2
(c) 1 3R 2 g (d) Td 1 A2

o SRl ) et ® ged §, Frefated

HoAl W fo=m wifsE:

1. HOE ot tfushil | GIer T Tehdl 2

2. EEE & 3N YA AfMER H fRd U
e 1 =t QR T8l fee S
kel B

3. STYRYd @&l @ fagia wfasast g o
@] fean w2l

Srde | 9§ o we wet #72

(a) HIA TH (b) FaaA I

(c) |t @ (d) & ot 7T

i sl & R o frefafea & @ wA-w

FHU TE B2

(a) T gopit iy &/ = & a1 aRufies
ke UsFR 1 gefifa e 2

(b) T s & SRemd, Wieng A1 TR
weHE 5N gfaen weH 1 S 2

(c) T gohfelt ® whered HARSH SE | Aot
e €, 8- Sifider St e FHamnl

(d) 3TF | ¥ HE &

&3.
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Consider the following statements with reference

to deepfake technology:

1. Deep Fakes are created using a technique
called generative adversarial networks.

2. Deep Fakes are synthetic media that use
artificial intelligence to alter visual and audio
content.

Which of the statement(s) given above is/are

correct?

(a) 1 only (b) 2 only

(¢) Both 1 and?2 (d) Neither 1 nor 2

In the context of suspension and restriction of

fundamental rights, consider the following

statements:

1. Parliament has the power to restrict or
abolish the fundamental rights of people
working in the fields of defense army,
security forces, police, intelligence and
telecommunication etc. by making a law.

2. If martial law is in force in any area of India,
then Parliament can restrict or abolish the
fundamental rights by law.

Which of the statement(s) given above is/are

correct?

(a) 1 only (b) 2 only

(c) Both 1and2 (d) Neither 1 nor 2

With reference to amendability of fundamental

rights, consider the following statements:

1. Parliament can amend the fundamental
rights.

2. The amendments made in the fundamental
rights by the court cannot be judicially
reviewed.

3. The principle of basic characteristics has
been applied with prospective effect.

How many of the above statements are correct?

(a) Only one (b) Only two

(c) All three (d) None

Which of the following statements is correct about

the gig economy?

(a) Gig economy refers to traditional full-time
employment with fixed working hours.

(b) The gig economy involves temporary,
freelance or short-term jobs, often facilitated
by online platforms.

(c) The gig economy includes only jobs in the
entertainment industry, such as musicians
and comedians.

(d) None of the above.
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T & H w4 ® fefated wAl )R foer
Hiferd:

() (39m)
1. &R - TN
2. ST - St
3. fecft - T ER
Swfm # 9 fohad g el gafer ©2
(a) HIA TH (b) FaaA I
(c) |t = (d) =18 o T

Wy Faeu ERR-2023 ¥ frefatad § 9

HE-T 7 3 1ot T B T w72

(a) STEUTEA Wo¥l, A, Tsteem

(b) TSEYH, AT, B

(c) foR, uf¥=m sma, 194

(d) demE, fER, W W=

sierfedh TRy o o e § Fretfefen wer

R fo=r Hifsa:

1. 7% THAE U oUW ¥, S "ol fava &
HEErRl # yerfed gl 2

2. I8 Sfyeeh Sererg fateme & Hewgot i
ot 21

ST wOA W A g 2R
(a) Fad 1 (b) wa 2
(c) 1 &R 2 g (d Fd 1 SRAE2
frferfad gl W foam FifE:
(e fed) (T=7)
1. fogefrae - onfewm
2. HRH - HEeE
3. iR - far
S o 9 forad g ot gufea €2
(a) HaA TH (b) HaA I
(c) |t @ (d) & o &

TfagAe®y & Hed # frAfafed wa | fa=ar

EAIEpE

1. 78 T A1eF Uit 7, gt yee wAfew
% 79 foal & faran smar 21

2. A & H wgEdt fem & 504 == A
TfaqAesy § 9 oo fava gfaa feie
Sinll
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Consider the following places that have been in
the news recently:

(Place) (Country)
1. Kerman — Iran
2. Abuja - Nigeria
3. Dili - Cape Verde

How many of the above pairs are correctly
matched?
(a) Only one (b) Only two
(c) All three (d) None
Which of the following is the correct code for the
low ranked states in the Swachh Survekshan
Award-2023?
(a) Arunachal Pradesh, Mizoram, Rajasthan
(b) Rajasthan, Nagaland, Tripura
(c) Bihar, West Bengal, Assam
(d) Punjab, Bihar, Uttar Pradesh
Consider the following statements with reference
to the Antarctic Circumpolar Current:

1. This is the only current which flows in the

oceans of the entire world.

2. It plays an important role in global climate

regulation.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2 only

(c) Both1and2 (d) Neither I nor 2

Consider the following pairs:

(Tiger Reserve) (State)
1. Simlipal — Odisha
2. Namdapha —  Meghalaya
3. Valmiki — Bihar

How many of the above pairs are correctly
matched?
(a) Only one (b) Only two
(c) All three (d) None
Consider the following statements in the context
of Chavittu Natakam:
1. It is a theatre style performed in the coastal
districts of Karnataka.
2. Recently, 504 members of the Kudumbashree
Mission participated in Chavittunatakam and
won the world talent record.

Which of the statement(s) given above is/are

ST wUl H W wHE-w/H wE R/E? correct?
(a) ®ad 1 (b) Had 2 (a) 1 only (b) 2 only
(¢) 1 @ 2 =H (d Fa 1 RTE2 (¢) Both1and?2 (d) Neither 1 nor 2
e 641, UUH T, | 21, GET US, | 13/15, AR uH, ke | wite FoR-45 9 45-A4 T 47/CC, afetmeT
T s TR, T =, ufehr wier, fafae (-2, T e Ag, | 3Mehe uie, faemrasm
(Magazine Test) RS CCUCI IR RSt T, FEAHIS TG A, AT i, T

Phone: 8448485518, 011-47532596, 8750187501 :: www.drishtilAS.com

Copyright — Drishti The Vision Foundation



92.

93.

94.

95.

96.

AT S WEFAM-2024 1 A Fr=fafad

o o el feman T2

(a) TSTEAH

(b) IWEE

(c) ergemst

(d) I

ARy % Hed H, freafafad wo w faEr

IS

1. Uufd gR YAl S1eARy %1 deUdl g6
TEATH 1 TG ¥ B Fwe AR ifeshad
TE WEH o e

2. FIE & SIUR, Uk STHARY WER &
sifufag & A Haurtes et & e
T SN Hfaum % et off Aifers tfeepr =
A WEHEl 1 Seatsd TEl H Wehdl Bl

ST wodl § 9 HA-A/A T 22
(a) dad 1 (b) Had 2
(c) 1 3R 2 g (d) Td 1 A2
frefafen 7w w foEr F it

(W) (aTETERtyT @ WA )
1. e 13 - & =ErE
2. quf dg - A Al =i
3. dfaum e - diw 4@ i =i
Swfm # 9 fohad g weEl gafer ©2
(a) H9d TH (b) ®ad A
(c) |t @ (d) & o 7T

ST GHA wEHT ® GeH ¥ fefaraa wem

T foar Fifsa:

1. guEwst 3 four & o aefeal & yav &
o 8 wEHT H YEAE F 2

2. &% a8d W H 10 STEM oiel Tifd =t
il

ST For H 9 HHA-TUA TE B2

(a) Had 1

(b) Faad 2

(¢) 1 32 =F

(d) T 1 ARTE 2

frafafed & @ fog o & 3w fo fafrem

o = e €2

(a) Toett, arcdfomn, &

(b) 3Tsier, foeft, Sreffan

(c) =, TR, arfehem

(d) =M, Femewr, fefitam
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Where among the following was Exercise Desert
Cyclone-2024 conducted?
(a) Rajasthan
(b) Uttarakhand
(¢) Abu Dhabi
(d) Dubai
With reference to the Ordinance, consider the
following statements:
1. The validity of an ordinance promulgated by
the President is six weeks and a maximum of
six months from the date of its promulgation.
2. According to the Court, an Ordinance is
subject to the same constitutional limitations
as an Act of Parliament and can not violate
any fundamental right or other provisions of
the Constitution.
Which of the statement(s) given above is/are
correct?
(a) 1 only (b) 2 only
(c) Both1and2 (d) Neither 1 nor 2
Consider the following pairs:

(Bench) (Number of Judges)

1. Division Bench — One Judge

2. Full Bench

3. Constitution Bench — Five or more judges

— Two or more judges

How many of the above pairs are correctly
matched?
(a) Only one (b) Only two
(c) All three (d) None
Consider the following statements with reference
to Boeing Sukanya programme:
1. The Prime Minister has started this program
for the entry of girls in the aviation sector.
2. Under this, 10 STEM labs will be established
across the country.
Which of the statement(s) given above is/are
correct?
(a) 1 only
(b) 2only
(c) Both 1 and2
(d) Neither 1 nor 2
Which of the following group of countries are part
of the Lithium Triangle?
(a) Chile, Bolivia, Peru
(b) Argentina, Chile, Bolivia
(c) China, Afghanistan, Tajikistan
(d) China, Kazakhstan, Kyrgyzstan
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SKAO ufEs & deyd # frAfafed wedl w

fo=r wifsE:

1. e fava +1 qag 9t fed Tehia afEsm
2, T8 wemr fardrier @ sifssaedt el
S 21

2. € TH FR-THN IS B, TR &
forr o oo 21

3. 70 I T e e A, A
TN U 1 U J@en wr, 59 It
ABIH R Fefo & fme fed-wre
T H Tenfya feean s

4. 9RG TEH YE T @ Plkn T T

T E A e e

(a) HId TH (b) wad ]
(c) Had o= (d) |+t =R
frafafaa <o | fo=m Hifsa:

1. 99T 2. AS™
3. STeSitAm 4. %9 92

STH § 9 fhad oTRI! & H Holfen goa o

I e oTel 391 €7

(a) ol Th (b) et T

(c) Haad dF (d) Ift =R

Frefie el | Hetuq frefated FoentTen

JEuH R faEr Fife:

1. faen = 18w fgfa 3=u =mem
H1 Gl ¥ I Hl 2

2. gl efeftRy =Ml @ =rEEiwn @
qen fcifad w3 &1 AMYFR @ dar A
% Y 2

ST Fo A § HA-TUA TE B2

(a) ®ad 1 (b) HaA 2

(c) 1 &R 2 g (d Fd 1 SARAE2

dARa & foeed w fafv= fadgesi =1 fufa

% ged o fmfafed wol W foem &t

1. S fadees oomw § & gC € @i T
g H & wifad & 9o eleds ¥ qiia T2
T €, 9 fased W wma 1 g 2

2. U fadae, f5| W 99 doh gog S
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Consider the following statements with reference
to SKAO project:

1. This is the world’s largest radio telescope
project, called the Square Kilometre Array
Observatory.

2. It is an intergovernmental organisation, its
headquarters is located in Vienna.

3. The project will not consist of a single
telescope, but an array of thousands of
antennas, which will be installed in remote
radio-quiet locations in South Africa and
Australia.

4. India has been a full member since its
inception.

How many of the above statements are correct?
(a) Only one (b) Only two
(c) Only three (d) All four
Consider the following countries:
1. Senegal 2. Mauritius
4. Cape Verde
How many of the above mentioned countries in
the African region are certified malaria free?
(a) Only one (b) Only two
(c) Only three (d) All four
Consider the following constitutional provisions
related to subordinate courts:

1. Appointment to the post of District Judge is
done by the Governor on the advice of the
High Court.

2. The Public Service Commission has the right
to transfer, confirm, promote, punish and
suspend the judges of all subordinate courts.

3. Algeria

Which of the statement(s) given above is/are
correct?

(a) 1 only (b) 2 only

(c) Both 1 and?2 (d) Neither 1 nor 2
Consider the following statements with reference
to the status of various Bills on the dissolution of
the Lok Sabha:

1. Bills which have originated in the Rajya
Sabha and are pending in the Rajya Sabha
and have not been passed by the Lok Sabha,
do not lapse on dissolution.

2. A Bill on which the President has given

ot ST T Iz AT ?}?tlcfhof glilliltentlon tod f:all 1al _1?1nt meeting,
fr8 2 = & s 3 ' en that Bill lapses on 1s.so ution. '
. ) Which of the statement(s) given above is/are
STF wmeAl § 4 wE-wA gl 2R? correct?
(a) dad 1 (b) Haa 2 (a) 1only (b) 2 only
(¢) 1 @2 =F (@ Fa 1 RTE2 (c) Both1and?2 (d) Neither 1 nor 2
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